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(AALE%E 2498000 x1.1= 2,747,800 %#.£%d) HERRUAHEERDEE 249,800




B fl & 2

= X F E SHIFEE F OE & (A H ) 1,944,800 M
= K B 5 % 21 2 (53-101200-0009) FoE MK (A AL EH B 1,768,000 H
£ ® % HONFERE(IR) REEHEET B & % B i % (R A H ) EREEL
£ K B HERHSETYR ERIL HhA SIEFIRMSE (AL E LB ) EREEL
At &F A A SF03E6 A 258 HiExTE "BRHETOM & AT HITYHET
NO e RPN T N 117, 117 X % =
1| KRFEER (%) THK #=F 1,740,000[ 3
2| (%) B2 E% B— 1,730,000 1 &L
S| RHAIRERMAR (H) =H R 1,738,000 2
4|(B)THEIHEE MR EFH 1,760,000 7
5/(F)BHEITHEE EH B= 1,749,000 4
6| (¥R) FEA R B E 1,765,000, 9
1|1&E&EE(B) B 1,750,000, 5
8|mEEE BE T 1,750,000, 5
9| (B HFHERIX Bl BX 1,765,000( 9
10({(A)=HBEIXE EH K 1,760,000| 7

E) BRI kYL R E B - DA B \
(AAL£%8E 1,730,000 x1.1= 1,903,000 %iL£%8) HERRUMAEEROLE 173,000




£

LB\ B

= X F E SHIFEE F E O (B A H ) 1,922,800 M
= K B 5 % 22 2 (53-101200-0010) FoE MK (A AL EH B 1,748,000 H
£ ® % HOFREQIR) REEHEEHT B & % B i % (R A H ) EREEL
£ R B A HERHSETYR ERIL HhA SIEFIRMSE (AL E LB ) EREEL
At &F A A SF03E6 A 258 HixxiE "BRHETOM & AT HITYHET
NO e RPN T N 117, 117 X % =
1| (BR) (B4 4R B Fz 1,745,000 4
2| (k) EREEER I #I E7 1,746,000 6
3| (%) LEHER E% B— 1,720,000[ 3
4| (B REMEE B & iR
5| (¥8) J1138 nia = iR
6| RHAIRERFRAR () =H ZH 1,745,000 4
(B EEIEE EH B= 1,746,000, 6
8|&EK(H) B L 1,700,000| 1 &L
IEmEERE BE T 1,710,000 2
10({(A)BEHERITE Bt 13X iR
) MBI k)RR B A D
(AAL£%E 1,700,000 x1.1= 1,870,000 %#.£%d) HERRUAHEERDEE 170,000




B fl & 2

= %X F E SFEE ¥ & O (H A H ) 2,380,400 M
= K B 5 % 23 2 (53-101400-0038) FoE MK (A AL EH B 2,164,000 M
£ ® % HEAXYRIIL LNV AR LR B & # B i % (R A H ) EREEL
£ K B HERHSETYRT L/ i SIEFIRMSE (AL E LB HE) EREEL
A F A A 4F10346H 258 xR EBRETOM %58 PATHE HSTYE
NO e RPN T N 117X 717X % =

1| EE N 53 iR

2|fEHERE =l F— 2,164,000/ 3

3| A ERE i EE 2,145,000| 2

4| FEREEE B B 1,947,600 1 AL

5((B)#EILER I E&F 2,164,000, 3

E) BRI kYL R B - DA B \
(AFLEZE 1,947600M x1.1= 2,142,360 %#f.L£%8) HERRUMAEERODEE 194,760



